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REBEVS /NG R e TR T EAmFE P N ARE
et (L) & 250,635,000 1
T 5 fi #% 4 227,850,000 1
TH 2 B S AH 24 %A & 22,785,000 4




& BEEA/NERABRAEBESRETIS No.
£ 5 & B Hf it & ] %
[ERERE X
1| BT H 1 = 68,035,640
I EXE LEF 1] 33,774,791
I0 | st T 1 = 66,612,646
ERCERE ¢ 168,423,077
Hm
1| Hmees 1 =K 8,359,132
0| S 1 =K 26,328,952
— 1 = 24,738,939
B din 59,427,023
A5 227,850,100
T EMmAS SREES A7t e 227,850,000
TH B Bl S AH 24 %R 22,785,000
A (L) 250,635,000




D BEEA/NERABRAESRETIS No. 2
% E7 i3] 2 Bifg i ) &
I |BEITS
A ARG SUE TH 1 X 67,518,903
B [{FRECRE=ELE LE 1 = 516,737
&t 68,035,640




£ W BEEA/NERABRAESRETIS No.
% E7 i3] 2  Hf i ) &

A |RESREISE
1 |[EERGETE 1 K 2,295,418
2 Bk IS 1 = 178,731
3 |IEEUETH 1 X 1,463,472
4 [FREEISE 1 = 10,009,588
5 |NEUETHE 1 3K 30,604,044
6 |BEKETHE 1 = 633,141
T |ERfRSE T 1 3K 10,719,763
8 MEE TH 1 = 2,659,704
9 |- 1 3K 8,955,042
&t 67,518,903




BEEANPRGRAESHIETS No

% b i3] = # 2 Bifg B i & 28
REREERE TS

1 |[EERGETE 1 K 57,857
2 |[BEMEIE 1 = 327,143
3 |NEUETE 1 X 51,588
4 |BEKETHE 1 = 26,200
5 |-y 1 3K 53,949

&t 516,737




4 R FEREVE /N B R G e T [ PER] No.
4 s fii e % BT B Al & B i

I |&EXGERE LF
1 |- B R 1 K 7,363,020
2 |EATEAH 2-1 LTS 1 K 3,964,420
2-2 B MY 1 K 1,136,080
3 |EERM 1 K 16,206,520
4 |HENAZHRR 1 =X 542,750
5 |FhE SRR =V 344,910
6 |PEA R 1 K 66,650
7 |BHA0 - AR EE PR 1 K 303,250
8 | KU EENRR 1 K 363,840
9 |HENELEM 1 K 2,789,370
10 |[#EPNIE1E R 1 =X 185,330
11 KA T 1 K 508,651
aEl 33,774,791




2 BEEA/NARGRABESRIELS No.

£ R i C:3 ¥ =2 Hf B * &

I |HmERELISE

1 |ZERERARE FHBNEXR [ v 6,336,950
2 |BRERlE B E RS [ v 16,720,980
3 |EERERE " [ v 1,579,610
4 |#EKEE " [ v 2,329,438
5 |HEKERE " [ v 3,764,375
6 |¥aimxlE " [ v 3,696,268
7 |IHKERE " [ 52,490
8 |AREE " [ v 1,536,640
9 |EHEHRER " [ v 28,647,500
10 [MEISE " [ v 1,948,395

A&t 66,612,646




